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Notes #1 – Graphing Systems of Equations 

 

Vocabulary: 

A system of linear equations is ______________________________________________ 

______________________________________________________________________________ 

 

A solution of a system of linear equations is ____________________________________ 

______________________________________________________________________________ 

 

Point of Intersections (POI) is the same thing as the solution of a system. 

 

No solution means ________________________________________________________ 

______________________________________________________________________________ 

 

A system of equations has infinitely many solutions when _________________________ 

______________________________________________________________________________ 
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Systems with No solutions 

 

 1.) Solve by graphing: 
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Systems with Infinitely Many solutions 

 

 2.) 














3
4

3

3
4

3

xy

xy

 

 

 

 

 

 

 

Examples: 
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Practice: 

1.  
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3.  
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